
Samsung Electronics 7-1

7.Exploded Views and Parts List

1. Total Exploded View

AD510

AH320

AK290
AD280

AC010
AB030

AS260

AD480

AW140

AD370
AK420

AK250

AD150
AR001

AK170

AK270

AR001

AC025

AL150



7-2 Samsung Electronics

AD510

AH320

AR001

AC025

1-1. Exploded View (PART1)

A



Samsung Electronics 7-3

AK290
AD280

AC010
AB030

AS260

AD480

AW140

AD370
AK420

AK250

AD150
AR001

AK170

AK270

AL150

1-2. Exploded View (PART2)

B



Location No. Part No. Part Name

AB235 AH61-01795A BRACKET-HOLDER;SDM-D12,SECC,0.6,-,-,-,-

AB260 AH61-10513A BRACKET-PCB;DAT7000,SUN,T2.0,W85,L105,GR

AC010 AH64-03781C CABINET-FRONT;HT-Q20,HIPS,2.5T,430,-,-,-

AC025 AH64-03790E CABINET-BOTTOM-REAR;HT-Q20,SECC 0.6T,-,-

AC080 AH64-03791B CABINET-TOP;HT-Q20,SECC 0.5T,-,-,-,-,-,-

AD150 AH64-03783C DECORATION-FRONT;HT-Q20/COM,ABS,-,-,-,-,

AD480 AH64-03782C DOOR-CD;HT-Q20,ABS,-,-,-,-,-,DVD A-VID

AD510 AH64-02320B DOOR-TRAY;MM-KT8,ABS,-,-,-,-,-,-

AG030 AH66-00216A GEAR-PULLEY;CMS-SD100,TPE,-,-,-,BLACK,-,

AH320 AH61-01825A HOLDER-MECHA;HT-P30,ABS,-,-,-,-,-

AK170 AH64-03816A KNOB-FUNCTION;HT-Q40,ABS,-,-,-,-,-,-,-

AK250 AH64-03687C KNOB-MIC;DVD-K170,ABS,-,-,17,-,-,-,BLAC

AK270 AH64-03795B KNOB-OPEN;HT-Q20,ABS,-,20,20,-,-,-,NATUR

AK290 AH64-03784A KNOB-POWER;HT-Q20,ABS,-,-,-,-,-,-,-

AL150 AH67-00398A LENS-REMOCON;HT-Q20,ABS,-,-,-,-,-

AM000 AH59-01198E MICROPHONE;-,-,-,-,-,-,-,-,-,SILVER, ANO

AM020 AH31-00039B MOTOR FAN;C151BK10A2430,RDM5015S,0.12A,-

AP090 AH66-00219A PULLEY-BELT;CMS-SD100,CR 1.5,-,-,-,-,-,-

AS000 6001-001257 SCREW-MACHINE;PWH,+,M1.7,L3,ZPC(YEL),SWR

AS030 6002-000126 SCREW-TAPPING;FH,+,-,2S,M3,L10,ZPC(BLK),

AS040 6003-000152 SCREW-TAPTITE;PH,+,B,M2,L10,ZPC(YEL),SWR

AS040 6003-001446 SCREW-TAPTITE;BH,+,,M2,L5,NI PLT

AS040 6003-001476 SCREW-TAPTITE;PWH,+,B,M2,L5,ZPC(YEL)

AS040 6003-000276 SCREW-TAPTITE;BH,+,-,B,M3,L10,ZPC(YEL),S

AS040 6003-000279 SCREW-TAPTITE;BH,+,-,B,M3,L20,ZPC(YEL),S

AS040 6003-001465 SCREW-TAPTITE;BWH,+,B,M3,L8,ZPC(YEL)

AS259 AH61-01474A SPRING ETC-DECK;CMS-SD100,SUS304,-,-,-,1

AS260 AH61-02122A SPRING ETC-DOOR;-,SUS304,-,-,-,-,-,-,Q20

AW140 AH64-03787C WINDOW-VFD;HT-Q20/TQ22,TQ25,ACRYL,-,-,-,




